Supplemental Instruction - Biology 2300
Sl Leader - Philipp Orbe

Session: 6 — Test Prep 1

1. List the different types of enzymes and their functions.
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2. The bonds that holds nucleotides together in a single strand of DNA are’ bonds.

a) The phosphate backbone is ﬂcqc\l: ue\\i charged.
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3. What are 3 parts to a nucleotide? Draw it. - ¥ :
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4. What is the difference in ribose and deoxyribose?
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5. Why is it important that there is hydrogen bonding and not covalent bondlng in between the

complementary strands of DNA? ﬁr
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a). Knowing this, why is it important that nucleotides are bound using phosphodiester bonds?
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6. How many hydrogen bonds are present between each nucleotide pair?
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7. The Y-shaped junction formed during ear:y stages of DNA replication is called a
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8. New strangs of DNA are synthesized in the r2 =37 direction,
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9. What is 5 Primer? What €nzyme is responsible for the addition of primers? ~ N -
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10. During bna replication, both a leading and lagging strand are formed. The lagging strand is

synthesized in % fragments which are later mended back together by the
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11.Along with polymerization, DNA polymerase also has o ot ~ree v functions

12.True Polymerization and editing functions are tightly coordinated, thus they occur on the

same domain of protein.

13. A juedlo g is any changeidn the nucleotide Sequence of DNA.
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14. What are the 4 types of Mmutations that can occur jn DNA? Also list the two categories in which they
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’ 15. What are three things that cause DNA damage?
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17. f\hn—\nomo\o¥us ( MHE_S\ repairs the DNA break wi

repair site

th some loss of nucleotides at the

repairs the DNA break with no loss of nucleotides at the

18. \"\Ov‘—\o\ﬁ\bu <

repair site
19. What is the basic structure of an amino acid? A
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22. The proteins that help with protein folding are called Cheperone protein;zﬁthat are the four
levels of protein structure?
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23. Disulfide bonds at C)’ﬁ‘\e \ne residues help stabilize @ favored protein conformation.
24. Define enzyme, substrate, active site.
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25. Enzymes \ owse— _the activation energy necessary for a reaction.
26. T@When a substrate goes through a transition state, it is usually more stable than the product.
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28. Which nitrogenoys bases are known as Pyrimidines?
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30. What js the purpose of the genetic code? s
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31. Define 3 £ene and genome.
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33. Which histone molecules for,
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34. Are the amino acids of histoner negatively charged?

35. What is the function of H1 histone?
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36. Post-translational modifications of H3. What do these modifications cause?
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a) Lysine methylation in gene 9
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c) Serine phosphorylation in gene 10 and serine acetylation in gene 14
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37. Define heterochromatin and euchromatin.
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38. NA polymerase “reads” ina 5’ to 3’ direction.
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E 39. Define catabolism, anabolism. Provide an example.
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: 40. What is the difference between leading and lagging strand?
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